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Firm BUS, SA works with Bank BCM and manufactures and sells a single product. For the
current year, it's expected to manufacture and sell 300 000 units at a price per unit of
100€. The following was obtained from firm’s current annual budget:

Fixed Operating Costs 7,200,000€

Variable Operating Costs 52€ / Unit
Equity is 2,100,000€ and the firm’s Degree of Financial Leverage (D.F.L.) is 2. Corporate
income tax rate is 30%.

Questions:

a) Determine the D.O.L. (Degree of Operating Leverage) and interpret the result.

b) Compute the D.T.L. (Degree of Total Leverage) and interpret the result.

¢) Compute the accounting Return on Equity (ROE) showing to what extent this relates to
the DFL.

d) What is the accounting break-even number of units produced (and sold)? Interpret the
result.

a)
DOL 2
dado que a empresa produz 300000 unidades,
um aumento de 1% na quantidade resultaria

num aumento de 2% no EBIT.
b)
DTL 4

dado que a empresa produz 300000 unidades,
um aumento de 1% na quantidade resultaria

num aumento de 4% no resultado liquido.

c)
A partir da DFL podemos calcular o Resultado Antes de Imposto
DFL=EBIT/RAI
RAI=EBIT/DFL 3600000
RL 2520000
ROE 1,2 120%
Esta explicada a relagdo através do calculo.
d)
A partir do RAIl obter FinCosts (encargos com o endividamento)

FinCost 3600000
Qbreakeven 225000 unidades
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A empresa BUS, SA é cliente do Banco BCM e dedica-se a fabrica¢ido e venda de um tnico
produto. Este ano prevé uma producio e vendas de 300.000 unidades a um prego de
venda unitario de 100€. Do orcamento elaborado para este ano constam as seguintes
valores:

Gastos fixos operacionais 7.200.000€
Gastos variaveis 52€ / Unidade

Os capitais préprios sdo 2.100.000€ e o Grau de Alavanca Financeira é de 2. A taxa de
IRC é de 30%.

Perguntas:

a) Determine o Grau de Alavanca Operacional e interprete o resultado.

b) Determine o Grau de Alavanca Total (combinada) e interprete o resultado.

¢) Determine a Rendibilidade Contabilistica dos Capitais Proprios (ROE), mostrando em
que medida esta se relaciona com o grau de alavanca financeira.

d) Qual o ponto critico contabilistico de produgdo (e vendas)? Interprete o resultado.



